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Write your Roll Number in the space provided on the top of this page.

2 This paper consists of fifty (50) multiple choice tvpe questions. All questions are compulsory.
38 At the commencement of examination, the question booklet will be given to candidate. In the first 5 minutes, candidate is requested
to open the booklet and compulsorily examine it as below :

(i) To have access to the question booklet, tear off the paper seal on the edge of this cover page. Do not accept a booklet without
sticker-seal and do not accept an open booklet.

(if)  Tally the number of pages and number of questions in the booklet with the information printed on the cover page. Faulty
booklets due to pages/questions missing or duplicate or not in serial order or any other discrepancy should be got replaced
immediately by a correct booklet from the invigilator within the period of five minutes. Afterwards, neither the guestion
booklet will be replaced nor any extra time will be given.

(i)  After this verification is over, the lest booklet number should be entered in the ICR answer sheet and the ICR Answer Sheet
number should be entered on this test booklet.

4. Each item has upto four altemative responses marked (A), (B), (C) and (D). The answer should be a capital letter for the selected
option. The answer letter should entircly be contained within the corresponding square.

Correct method A Wrong method OR

Your responses (o the items for this paper are to be indicated on the ICR Answer Sheet under Paper II only.

Read instructions given inside carefully. '

Rough work is 10 be done in the end of the booklet only,

You have to return the original [CR Answer Sheet to the invigilators at the end of the examination compulsorily and must not carry

it with you outside the examination hall. You are, however, allowed to carry duplicate copy of ICR sheet and test booklet on

conclusion of the examination.

9, Use black ball point pen.

10.  Use of any Calculators or log tables or any other electronic devices is prohibited.

11.  There shall be no negative marking.

12.  In case of any discrepancy in Gujarati and English version of questions the English version should be taken as final.
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: This paper contains FIFTY (50) multiple-choice/Assertion and Reasoning

Matching questions, each question carrying TWO (2) marks. Attempt All

the questions.
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Internal environment is also called

as :

(A) Macro-environment

(B) Micro-environment

(C) Internationl_ environment

(D) Technological environment

2. Environmental scanning is done :
(A) For increasing business
environment
(B) For giving new direction to the
business
(C) For creating new ventures in
business
(D) For meeting growing
competition from the rivals
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Which one of the following is not

a feature of capitalism ?

(A) No freedom in fixing the price
(B) Freedom of enterprises

(C) Profit maximization

(D) Freedom of (;hoice

Which one is not an element of

second generation reforms ?
(A) High growth of agriculture

(B) Growing Indian transnational

corporations
(C) Empowering the poor
(D) HYVP and GRT
The liberalisation has :

(A) expanded the scope of private

sector

(B) restricted the scope of private

sector

(C) maintained the status quo of

private sector

(D) expanded the scope of public

sector
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- All of the following are fundamental
accounting assumptions, except :
(A) Business entity

(B) Accrual

(C) Going concern

(D) Consistency

Outgoing partner is compensated for
parting with firm’s future profits in
favour of remaining partners. In
what ratio do the remaining
partners contribute to such
compensation amount ?

(A) Gaining ratio

' (B) Capital ratio

(C) Sacrificing ratio

(D) Profit-sharing ratio

When the object of reconstruction
is usually to reorganise capital or
to compound with creditors or to

effect economies, then such type of

reconstruction is called :

(A) Internal reconstruction with

liquidation of a company

(B) Internal reconstruction without

liquidation of a company
(C) External reconstruction

(D) Absorption
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9. The contribution margin increases
when revenues remain the same

and :

(A) variable cost per unit increases
(B) . variable cost per unit decreases
(C) fixed cost decreases

(D) fixed cost increases

10. The interest on calls-in-advance is

paid for the period from the.................

(A) date of receipt of application

money to the due date of call

(B) date of receipt of allotment

money to the due date of call

(C) date of receipt of advance to the
due date of call

(D) due date of call to the date of
dividend payment
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